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gcc -g -o <output> <src>

gdb [program]

run (r)

break (b)) <location>

info break (i b)
delete (d) [num]
disable (dis ) [num]

enable (en) [num]

next (n)

step (s)

continue (c¢)

finish ( fin)
until [location]

return [value]

print (p) <expr>

display <expr>
info locals

info args

list [location]

backtrace (bt)

frame [num]

x/<count><format> <addr>

set {<type>}<addr> =

<value>

help [command]

quit (q)
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GDB LHE =2 27|
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gcc -g -o main

main.c
gdb main
run argl arg2

break main

b file.c:42

delete 1
disable 2

disable 2

next

step

continue

finish
until 100
return -1

print i

p arr[0]
display x
info locals
info args

list 100

list function

frame 2

x/4xb &amp;buffer

set {int} &amp;i =
5

help break

quit



